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QUESTION 1

Which feature should be disabled on a bridge domain when a default gateway for endpoints is on an external device
instead of a Cisco ACI bridge domain SVI? 

A. unicast routing 

B. ARP flooding 

C. unknown unicast flooding 

D. proxy ARP 

Correct Answer: C 

 

QUESTION 2

An existing Cisco ACI Multi-Site setup with default fabric settings contains endpoints that communicate with an MTU of
1500. What is the minimum MTU value that must be supported by the ISN to allow control plane endpoint information
exchange between sites? 

A. 9000 

B. 1554 

C. 9100 

D. 1600 

Correct Answer: C 

Reference: https://www.cisco.com/c/en/us/support/docs/cloud-systems-management/application-policy-infrastructure-
controller-apic/214270-configure-aci-multi-site-deployment.html 

 

QUESTION 3
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Refer to the exhibit. How is the ARP request from VM1 forwarded when VM2 is not learned in the Cisco ACI fabric? 

A. Leaf 101 forwards the ARP request to one of the proxy VTEP spines. 

B. POD1 spine responds to the ARP request after the POD1 COOP is updated with the VM2 location. 

C. Leaf 101 encapsulates the ARP request into a multicast packet that is destined to 225.0.37.192. 

D. Leaf 101 switch consumers the ARP reply of VM2 to update the local endpoint table. 

Correct Answer: A 

 

QUESTION 4

Cisco ACI fabric is migrated from network-centric mode to application-centric mode. What is possible in an application-
centric design? 

A. remapping of VLAN pools 

B. migration of bare metal servers to virtual machines 

C. creation of additional EPGs under one bridge domain 

D. Cisco ACI VMM integration with hypervisors 

Correct Answer: C 

 

QUESTION 5
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Refer to the exhibit. The 0.0.0.0/0 is configured as a default static route on L3Out-1. Which action should be taken for
the 0.0.0.0/0 prefix to advertise out on L3Out-2 OSPF? 

A. Enable Shared Security Import Subnet 

B. Enable Aggregate Export Subnet 

C. Enable Shared Route Control Subnet 

D. Enable Export Route Control Subnet 

Correct Answer: B 
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